112& < & > AMEEHEHL 2RI

==> RT

#1: 5 BEIZHEI2(96.74) #2: 6 EXE(06. 42) #3: 3 FHE(75.82)

1 NS: Pidst {5 EH0) -16 8 NS: So#li4 2185 (BAC) 9 3.32 16.68 | Total VP: 69.96 Rank:
EW: MiEIEY FiBsfE(EAC) -9 EW: [RiE3E £I&#(BA0) 16 IMP:| 16 37 5
I I -
#1 » KT84 2SS3 140 Mean: 4SS4 420 9.0 1 |[#2 » 972 3NE5 -460 Mean: 3NW5 460 0.0 4
v T73 4SS-1-50 40 3883 140 30 1 v JT87 3NE5 -460 -460 3NE5 -460 00 6
+ A96 Dif: 190 NsS:3 2SS3 140 3.0 1 * J94 Dif: 0 NS:0
» KJ9 IMP: 5 EW:3 2SN3 140 3.0 1 » QJ8 IMP: 0 EW:0
s 72 » 96 488-1 50 30 2 ||a Q63 » K84
v QJ5 v K862 4SN-1 -50 3.0 2 ||v A954 I v K6
* QJ2 + KT4 4SS-2 100 -40 2 8 + AKQT62
+ AQ632 & T754 & A7632 » K5
® VBN 4 AQJS3 o ¢ VABN 4 AJTS
N ~1~22 9A%4 N ~~~~~ v Q32
S ~1~22 48753 S ~~~~~ ¢ 753
E1~~~~ a8 E 56~~5 &T94
W1~~~~ W 56 ~~5
#3 » AJ65 4HW-1 100 Mean: 4HW-2 200 30 4 ||#4 » Q95 2SN-2 -200 Mean: 3DE-1 100 40 1
v 42 4HW-1 100 90 4HW-1 100 0.0 4 vT5 3DE-1100 -30  1NW-1 100 40 1
+ QJB3 Dif: 0 NS:0 2HW3 140 60 2 * J932 Dif: -300 NS:-5 1HS2 110 40 1
& 986 IMP: 0 EW:0 & Q653 IMP: -7 EW:-4 1SN1 80 30 1
» KQ74 a 93 a 632 a AT4 3SN-1 100 20 1
v AK876 v QT5 v K987 + v A2 2HS-1 4100 20 1
¢ K ¢ T652 ¢ T854 + KQ76 2DW2 -90 20 1
& 532 » AQ74 » K2 & JT97 2DE2 90 20 1
P VABN ,T82 o VAN 4, KJIS7 2SN-2 -200 -5.0 2
N ~1~1~ ¢J93 N ~~21~ v QJ643
S ~1~1~ ¢A974 S ~~21~ ¢A
E1~3~1aKJT E ~2~~1 a&A84
W1~2~1 W ~2 ~~1
#5 s Q2 3SS4 170 Mean: 4SS4 620 100 1 ||#6 & AK7 5HW-1 100 Mean: 4SXS4 500 50 2
v Q983 4S5S4 620 180 4HXW-2 300 3.0 1 v 8 4SXN4 590 420  4SXN4 500 50 3
+ QT862 Dif: -450 NS:0 3SS4 170 0.0 4 + Q865 Dif: -490 NS:-8 4SN5 450 1.0 1
& JT IMP: -10 EW:-10 2SS4 170 0.0 2 » K8632 IMP: -10 EW:-5 4SS4 420 0.0 1
# 765 s K 2883 140 1.0 1 ||sQT 92 5HW-2 200 6.0 1
v AT76 v K542 48S-2 200 9.0 1 ||v KQJ542 v AT63 5HW-1 100 8.0 2
¢ 73 * AJ54 ¢ 93 ¢ A74
+ KQ63 & 8752 » AQJ & T975
%o ¢ VAN 4AITI843 % ¢ VAN 4 J86543
N ~1~32 oJ N ~4~4~ 997
S ~1~33 +K9 S ~4~4~ ¢ KIT2
E 2~2~~ &A% E1~3~1 &4
W2-~2~-~ W 1~3~1
#7 » KQ98653 5CE5 -600 Mean: 3SN3 140 7.0 1 |[|#8 » Q864 6CW-150 Mean: 6SE-2 100 50 1
v K5 4CE4 -130 -150  4SN-1 4100 20 2 v A9643 4SE5 -450 -100  6SW-1 50 40 1
*QJ Dif: -470 NS:-10 4CE4 130 10 5 ¢ JT7 Dif: 500 NS:4 6CW-1 50 40 4
& A2 IMP: -10 EW:-1 4SXN-1 200 -20 1 T IMP: 11 EW:8 5SE-1 50 40 1
aJ a A74 5CE5 600 -10.0 1 | |a AK75 ~ J932 4SW5 450 -8.0 1
v JT732 + vQ T v Q5 4SES 450 B0 1
¢ KT4 ¢ A985 + KQ63 ¢ A8 5HXN-3 -500 9.0 1
& T874 S » KQ963 & AK9 » QJ543
P OVABN T2 FOVAN T
N ~~~ 2~ ¢ A9864 N ~~~~~ v KJ872
S ~~~2~ #7632 S ~~~~~ ¢ 9542
E 53~~~ aJ5 E 5~~42 &872
W53~~~ W 5 ~~42




112& < & > AMEEHEHL 2RI

==> RT

#1: 5 BEIZHEI2(96.74) #2: 6 EXE(06. 42) #3: 3 FHE(75.82)

2 NS: BEST HREEFEGEO) -9 4 NS: PRIERR FEESR(BAC) 7 5.61 14.39| Total VP: 58.48 Rank:
EW: #e5 SIRZEEAC) -7 EW: iti#E% #inzE(BO) 9 IMP:| 12 24 8
I I -
#1 » KT84 4SN-1-50 Mean: 4SS4 420 9.0 1 |[#2 » 972 3NW5 -460 Mean: 3NW5 460 0.0 4
v T73 4S5S4 420 40  3SS3 140 3.0 1 v JT87 3NW5 -460 -460 3NE5 460 0.0 6
« A96 Dif: -470 NS:-3 2SS3 140 3.0 1 ¢ J94 Dif: 0 NS:0
» KJ9 IMP: -10 EW:-9 2SN3 140 3.0 1 » QJ8 IMP: 0 EW:0
s 72 » 96 488-1 50 30 2 ||a Q63 » K84
v QJ5 v K862 4SN-1 -50 3.0 2 ||v A954 I v K6
* QJ2 + KT4 4SS-2 100 -40 2 8 + AKQT62
+ AQ632 & T754 & A7632 » K5
® VBN 4 AQJS3 o ¢ VABN 4 AJTS
N ~1~22 9A%4 N ~~~~~ v Q32
S ~1~22 48753 S ~~~~~ ¢ 753
E1~~~~ a8 E 56~~5 &T94
W1~~~~ W 56 ~~5
#3 » AJ65 4HW-1 100 Mean: 4HW-2 200 30 4 ||#4 » Q95 1HS2 110 Mean: 3DE-1 100 40 1
v 42 4HW-2 200 90 4HW-1 100 0.0 4 vT5 2HS-1-100 -30  1NW-1 100 40 1
+ QJB3 Dif: -100 NS:0 2HW3 140 60 2 * J932 Dif: 210 NS:4 1HS2 110 40 1
& 986 IMP: -3 EW:-3 & Q653 IMP: 5 EW:2 1SN1 80 30 1
» KQ74 a 93 a 632 a AT4 3SN-1 100 20 1
v AK876 v QT5 v K987 + v A2 2HS-1 4100 20 1
¢ K ¢ T652 ¢ T854 + KQ76 2DW2 -90 20 1
& 532 » AQ74 » K2 & JT97 2DE2 90 20 1
P VABN ,T82 o VAN 4, KJIS7 2SN-2 -200 -5.0 2
N ~1~1~ ¢J93 N ~~21~ v QJ643
S ~1~1~ ¢A974 S ~~21~ ¢A
E1~3~1aKJT E ~2~~1 a&A84
W1~2~1 W ~2 ~~1
#5 s Q2 4HXW-2 300 Mean: 4SS4 620 100 1 ||#6 & AK7 5HW-2 200 Mean: 4SXS4 500 50 2
v Q983 2SS3 140 180 4HXW-2 300 3.0 1 v 8 5HW-1 100 420  4SXN4 500 50 3
+ QT862 Dif: 160 NS:3 3Ss4 170 0.0 4 + Q865 Dif: 100 NS:-6 4SN5 450 1.0 1
& JT IMP: 4 EW:1 2SS4 170 0.0 2 » K8632 IMP: 3 EW:8 4ss4 420 0.0 1
# 765 s K 2883 140 1.0 1 ||sQT 92 5HW-2 200 6.0 1
v AT76 v K542 48S-2 200 9.0 1 ||v KQJ542 v AT63 5HW-1 100 8.0 2
¢ 73 * AJ54 ¢ 93 ¢ A74
+ KQ63 & 8752 » AQJ & T975
%o ¢ VAN 4AITI843 % ¢ VAN 4 J86543
N ~1~32 oJ N ~4~4~ 997
S ~1~33 +K9 S ~4~4~ ¢ KIT2
E 2~2~~ &A% E1~3~1 &4
W2-~2~-~ W 1~3~1
#7 » KQ98653 4SN-1-100 Mean: 3SN3 140 7.0 1 |[|#8 » Q864 5HXN-3 -500 Mean: 6SE-2 100 50 1
v K5 4SN-1-100 -150  4SN-1 4100 20 2 v A9643 5SE-150 -100 6SW-1 50 40 1
*QJ Dif: 0 NS:2 4CE4 130 10 5 ¢ JT7 Dif: -550 NS:-9 6CW-1 50 40 4
& A2 IMP: 0 EW:-2 4SXN-1 200 -20 1 T IMP: -11 EW:-4 5SE-1 50 40 1
aJ a A74 5CE5 600 -10.0 1 | |a AK75 ~ J932 4SW5 450 -8.0 1
v JT732 + vQ T v Q5 4SES 450 B0 1
¢ KT4 ¢ A985 + KQ63 ¢ A8 5HXN-3 -500 9.0 1
& T874 S » KQ963 & AK9 » QJ543
P OVABN T2 FOVAN T
N ~~~ 2~ ¢ A9864 N ~~~~~ v KJ872
S ~~~2~ #7632 S ~~~~~ ¢ 9542
E 53~~~ aJ5 E 5~~42 &872
W53~~~ W 5 ~~42




112& < & > AMEEHEHL 2RI

==> RT

#1: 5 BEIZHEI2(96.74) #2: 6 EXE(06. 42) #3: 3 FHE(75.82)

3 NS: FENER 12 ERZ(BH0) 11 10 NS: EX5E sRBFH(BAC) -5 14.68 : 5.32 Total VP: 75.82 Rank:
EW: 1505 BrEREAC) 5 EW: Z3¢#8 FBI75(BRO) -1 IMP:| 18 : 5 3
I I -
#1 » KT84 3SS3 140 Mean: 4SS4 420 9.0 1 |[#2 » 972 3NW5 -460 Mean: 3NW5 460 0.0 4
v T73 4SS-1-50 40 3883 140 30 1 v JT87 3NE5 -460 -460 3NE5 -460 00 6
+ A96 Dif: 190 NsS:3 2SS3 140 3.0 1 * J94 Dif: 0 NS:0
» KJ9 IMP: 5 EW:3 2SN3 140 3.0 1 » QJ8 IMP: 0 EW:0
s 72 » 96 488-1 50 30 2 ||a Q63 » K84
v QJ5 v K862 4SN-1 -50 3.0 2 ||v A954 I v K6
* QJ2 + KT4 4SS-2 100 -40 2 8 + AKQT62
+ AQ632 & T754 & A7632 » K5
® VBN 4 AQJS3 o ¢ VABN 4 AJTS
N ~1~22 9A%4 N ~~~~~ v Q32
S ~1~22 48753 S ~~~~~ ¢ 753
E1~~~~ a8 E 56~~5 &T94
W1~~~~ W 56 ~~5
#3 » AJ65 4HW-2 200 Mean: 4HW-2 200 30 4 ||#4 » Q95 2SN-2 -200 Mean: 3DE-1 100 40 1
v 42 2HW3 -140 90 4HW-1 100 0.0 4 vT5 3SN-1-100 -30  1NW-1 100 40 1
+ QJB3 Dif: 340 NS:3 2HW3 140 60 2 * J932 Dif: -100 NS:-5 1HS2 110 40 1
& 986 IMP: 8 EW:6 & Q653 IMP: -3 EW:2 1SN1 80 30 1
» KQ74 a 93 a 632 a AT4 3SN-1 100 20 1
v AK876 v QT5 v K987 + v A2 2HS-1 4100 20 1
¢ K ¢ T652 ¢ T854 + KQ76 2DW2 -90 20 1
& 532 » AQ74 » K2 & JT97 2DE2 90 20 1
P VABN ,T82 o VAN 4, KJIS7 2SN-2 -200 -5.0 2
N ~1~1~ ¢J93 N ~~21~ v QJ643
S ~1~1~ ¢A974 S ~~21~ ¢A
E1~3~1aKJT E ~2~~1 a&A84
W1~2~1 W ~2 ~~1
#5 s Q2 2SS4 170 Mean: 4SS4 620 100 1 ||#6 & AK7 4SXN4 590 Mean: 4SXS4 500 50 2
v Q983 3SS4170 180 4HXW-2 300 3.0 1 v 8 4SS4.420 420  4SXN4 500 50 3
+ QT862 Dif: 0 NS:0 3Ss4 170 0.0 4 + Q865 Dif: 170 NS:5 4SN5 450 1.0 1
& JT IMP: 0 EW:0 2SS4 170 0.0 2 » K8632 IMP: 5 EW:0 4Ss4 420 0.0 1
# 765 s K 2883 140 1.0 1 ||sQT 92 5HW-2 200 6.0 1
v AT76 v K542 48S-2 200 9.0 1 ||v KQJ542 v AT63 5HW-1 100 8.0 2
¢ 73 * AJ54 ¢ 93 ¢ A74
+ KQ63 & 8752 » AQJ & T975
%o ¢ VAN 4AITI843 % ¢ VAN 4 J86543
N ~1~32 oJ N ~4~4~ 997
S ~1~33 +K9 S ~4~4~ ¢ KIT2
E 2~2~~ &A% E1~3~1 &4
W2-~2~-~ W 1~3~1
#7 » KQ98653 4CE4 -130 Mean: 3SN3 140 7.0 1 |[|#8 » Q864 6CW-150 Mean: 6SE-2 100 50 1
v K5 4CE4 -130 -150  4SN-1 4100 20 2 v A9643 6SE-2 100 -100  6SW-1 50 40 1
*QJ Dif: 0 NS:1 4CE4 130 10 5 ¢ JT7 Dif: -50 NS:4 6CW-1 50 40 4
& A2 IMP: 0 EW:-1 4SXN-1 200 -20 1 T IMP: -2 EW:-5 5SE-1 50 40 1
aJ a A74 5CE5 600 -10.0 1 | |a AK75 ~ J932 4SW5 450 -8.0 1
v JT732 + vQ T v Q5 4SES 450 B0 1
¢ KT4 ¢ A985 + KQ63 ¢ A8 5HXN-3 -500 9.0 1
& T874 S » KQ963 & AK9 » QJ543
P OVABN T2 FOVAN T
N ~~~ 2~ ¢ A9864 N ~~~~~ v KJ872
S ~~~2~ #7632 S ~~~~~ ¢ 9542
E 53~~~ aJ5 E 5~~42 &872
W53~~~ W 5 ~~42




112& < & > AMEEHEHL 2RI

==> RT

#1: 5 BEIZHEI2(96.74) #2: 6 EXE(06. 42) #3: 3 FHE(75.82)

4 NS: BRAERE FEREC) 7 2 NS: BRZ<F MigF(BR0) -9 1439 : 5.61 | Total VP: 54.71 Rank:
EW: 8% BiESE(BE0) 9 EW: EEH ZIMEPBAC) -7 IMP:| 24 12 9
I I -
#1 » KT84 4SN-150 Mean: 4SS4 420 9.0 1 |[#2 » 972 3NW5 460 Mean: 3NW5 460 0.0 4
v T73 4SS4 -420 40  3SS3 140 3.0 1 v JT87 3NW5460 -460 3NE5 460 0.0 6
« A96 Dif: 470 NS:9 2SS3 140 3.0 1 ¢ J94 Dif: 0 NS:0
» KJ9 IMP: 10 EW:3 2SN3 140 3.0 1 » QJ8 IMP: 0 EW:0
s 72 » 96 488-1 50 30 2 ||a Q63 » K84
v QJ5 v K862 4SN-1 -50 3.0 2 ||v A954 I v K6
* QJ2 + KT4 4SS-2 100 -40 2 8 + AKQT62
+ AQ632 & T754 & A7632 » K5
® VBN 4 AQJS3 o ¢ VABN 4 AJTS
N ~1~22 9A%4 N ~~~~~ v Q32
S ~1~22 48753 S ~~~~~ ¢ 753
E1~~~~ a8 E 56~~5 &T94
W1~~~~ W 56 ~~5
#3 » AJ65 4HW-1 -100 Mean: 4HW-2 200 30 4 ||#4 » Q95 1HS2 -110 Mean: 3DE-1 100 40 1
v 42 4HW-2 -200 90 4HW-1 100 0.0 4 vT5 2HS-1100 -30  1NW-1 100 40 1
+ QJB3 Dif: 100 NS:3 2HW3 140 60 2 * J932 Dif: -210 NS:-2 1HS2 110 40 1
& 986 IMP: 3 EW:0 & Q653 IMP: -5 EW:-4 1SN1 80 30 1
» KQ74 a 93 a 632 a AT4 3SN-1 100 20 1
v AK876 v QT5 v K987 + v A2 2HS-1 4100 20 1
¢ K ¢ T652 ¢ T854 + KQ76 2DW2 -90 20 1
& 532 » AQ74 » K2 & JT97 2DE2 90 20 1
P VABN ,T82 o VAN 4, KJIS7 2SN-2 -200 -5.0 2
N ~1~1~ ¢J93 N ~~21~ v QJ643
S ~1~1~ ¢A974 S ~~21~ ¢A
E1~3~1aKJT E ~2~~1 a&A84
W1~2~1 W ~2 ~~1
#5 s Q2 4HXW-2 -300 Mean: 4SS4 620 100 1 ||#6 & AK7 5HW-2 -200 Mean: 4SXS4 500 50 2
v Q983 2SS3-140 180 4HXW-2 300 3.0 1 v 8 5HW-1-100 420  4SXN4 500 50 3
+ QT862 Dif: -160 NS:-1 3SS4 170 0.0 4 + Q865 Dif: -100 NS:-8 4SN5 450 1.0 1
& JT IMP: -4 EW:-3 2SS4 170 0.0 2 » K8632 IMP: -3 EW:6 4SS4 420 0.0 1
# 765 s K 2883 140 1.0 1 ||sQT 92 5HW-2 200 6.0 1
v AT76 v K542 48S-2 200 9.0 1 ||v KQJ542 v AT63 5HW-1 100 8.0 2
¢ 73 * AJ54 ¢ 93 ¢ A74
+ KQ63 & 8752 » AQJ & T975
%o ¢ VAN 4AITI843 % ¢ VAN 4 J86543
N ~1~32 oJ N ~4~4~ 997
S ~1~33 +K9 S ~4~4~ ¢ KIT2
E 2~2~~ &A% E1~3~1 &4
W2-~2~-~ W 1~3~1
#7 » KQ98653 4SN-1100 Mean: 3SN3 140 7.0 1 |[|#8 » Q864 5HXN-3 500 Mean: 6SE-2 100 50 1
v K5 4SN-1100 -150  4SN-1 4100 20 2 v A9643 5SE-1-50 -100 6SW-1 50 40 1
*QJ Dif: 0 NS:2 4CE4 130 10 5 ¢ JT7 Dif: 550 NS:4 6CW-1 50 40 4
& A2 IMP: 0 EW:-2 4SXN-1 200 -20 1 T IMP: 11 EW:9 5SE-1 50 40 1
aJ a A74 5CE5 600 -10.0 1 | |a AK75 ~ J932 4SW5 450 -8.0 1
v JT732 + vQ T v Q5 4SES 450 B0 1
¢ KT4 ¢ A985 + KQ63 ¢ A8 5HXN-3 -500 9.0 1
& T874 S » KQ963 & AK9 » QJ543
P OVABN T2 oOVAN AT
N ~~~ 2~ ¢ A9864 N ~~~~~ v KJ872
S ~~~2~ #7632 S ~~~~~ ¢ 9542
E 53~~~ aJ5 E 5~~42 &872
W53~~~ W 5 ~~42




112& < & > AMEEHEHL 2RI

==> RT

#1: 5 BEIZHEI2(96.74) #2: 6 EXE(06. 42) #3: 3 FHE(75.82)

5 NS: BRZEER) BIREEGHO) 20 7 NS: BRE# BREIB(BAC) 10 14.09 : 5.91 Total VP: 96.74 Rank:
EW: MR #EZEEIC) -10 EW: =55 BEE(BAO) -2 IMP:| 16 : 5 1
I I -
#1 » KT84 2SN3 140 Mean: 4SS4 420 9.0 1 |[#2 » 972 3NW5 -460 Mean: 3NW5 460 0.0 4
v T73 4SS-2-100 40  3SS3 140 3.0 1 v JT87 3NE5 -460 -460 3NE5 460 0.0 6
« A96 Dif: 240 NS:3 2SS3 140 3.0 1 ¢ J94 Dif: 0 NS:0
» KJ9 IMP: 6 EW:4 2SN3 140 3.0 1 » QJ8 IMP: 0 EW:0
s 72 » 96 488-1 50 30 2 ||a Q63 » K84
v QJ5 v K862 4SN-1 -50 3.0 2 ||v A954 I v K6
* QJ2 + KT4 4SS-2 100 -40 2 8 + AKQT62
+ AQ632 & T754 & A7632 » K5
® VBN 4 AQJS3 o ¢ VABN 4 AJTS
N ~1~22 9A%4 N ~~~~~ v Q32
S ~1~22 48753 S ~~~~~ ¢ 753
E1~~~~ a8 E 56~~5 &T94
W1~~~~ W 56 ~~5
#3 » AJ65 4HW-2 200 Mean: 4HW-2 200 30 4 ||#4 » Q95 2DE2 -90 Mean: 3DE-1 100 40 1
v 42 4HW-1 100 90 4HW-1 100 0.0 4 vT5 1NW-1100 -30  1NW-1 100 40 1
+ QJB3 Dif: 100 NS:3 2HW3 140 60 2 * J932 Dif: -190 NS:-2 1HS2 110 40 1
& 986 IMP: 3 EW:0 & Q653 IMP: -5 EW:-4 1SN1 80 30 1
» KQ74 a 93 a 632 a AT4 3SN-1 100 20 1
v AK876 v QT5 v K987 + v A2 2HS-1 4100 20 1
¢ K ¢ T652 ¢ T854 + KQ76 2DW2 -90 20 1
& 532 » AQ74 » K2 & JT97 2DE2 90 20 1
P VABN ,T82 o VAN 4, KJIS7 2SN-2 -200 -5.0 2
N ~1~1~ ¢J93 N ~~21~ v QJ643
S ~1~1~ ¢A974 S ~~21~ ¢A
E1~3~1aKJT E ~2~~1 a&A84
W1~2~1 W ~2 ~~1
#5 s Q2 2SS4 170 Mean: 4SS4 620 100 1 ||#6 & AK7 4SXN4 590 Mean: 4SXS4 500 50 2
v Q983 3SS4170 180 4HXW-2 300 3.0 1 v 8 4SXS4 590 420  4SXN4 500 50 3
+ QT862 Dif: 0 NS:0 3SS4 170 0.0 4 + Q865 Dif: 0 NS:5 4SN5 450 1.0 1
& JT IMP: 0 EW:0 2SS4 170 0.0 2 » K8632 IMP: 0 EW:-5 4Ss4 420 0.0 1
# 765 s K 2883 140 1.0 1 ||sQT 92 5HW-2 200 6.0 1
v AT76 v K542 48S-2 200 9.0 1 ||v KQJ542 v AT63 5HW-1 100 8.0 2
¢ 73 * AJ54 ¢ 93 ¢ A74
+ KQ63 & 8752 » AQJ & T975
%o ¢ VAN 4AITI843 % ¢ VAN 4 J86543
N ~1~32eJ N ~4~4~ 997
S ~1~33 +K9 S ~4~4~ ¢ KIT2
E 2~2~~ &A% E1~3~1 &4
W2-~2~-~ W 1~3~1
#7 » KQ98653 3SN3 140 Mean: 3SN3 140 7.0 1 |[|#8 » Q864 6SW-1 50 Mean: 6SE-2 100 50 1
v K5 4CE4 -130 -150  4SN-1 4100 20 2 v A9643 6CW-150 -100 6SW-1 50 40 1
*QJ Dif: 270 NS:7 4CE4 130 10 5 ¢ JT7 Dif: 0 NS:4 6CW-1 50 40 4
& A2 IMP: 7 EW:-1 4SXN-1 200 -20 1 T IMP: 0 EW:-4 5SE-1 50 40 1
aJ a A74 5CE5 600 -10.0 1 | |a AK75 ~ J932 4SW5 450 -8.0 1
v JT732 + vQ T v Q5 4SES 450 B0 1
¢ KT4 ¢ A985 + KQ63 ¢ A8 5HXN-3 -500 9.0 1
& T874 S » KQ963 & AK9 » QJ543
P OVABN T2 FOVAN T
N ~~~ 2~ ¢ A9864 N ~~~~~ v KJ872
S ~~~2~ #7632 S ~~~~~ ¢ 9542
E 53~~~ aJ5 E 5~~42 &872
W53~~~ W 5 ~~42




112& < & > AMEEHEHL 2RI

==> RT

#1: 5 BEIZHEI2(96.74) #2: 6 EXE(06. 42) #3: 3 FHE(75.82)

6 NS: ##fHaE s EEHGHO) 4 9 NS: 2ERIE 3EE8A(BAC) -21 17.50 : 2.50 | Total VP: 96.42 Rank:
EW: 5 EEEIC) 21 EW: EI7R EHBE(BAO) -4 IMP:| 33 : 8 2
I I -
#1 » KT84 4SN-1-50 Mean: 4SS4 420 9.0 1 |[#2 » 972 3NE5 -460 Mean: 3NW5 460 0.0 4
v T73 4SS-2-100 40  3SS3 140 3.0 1 v JT87 3NE5 -460 -460  3NE5 460 0.0 6
« A96 Dif: 50 NS:-3 2SS3 140 3.0 1 ¢ J94 Dif: 0 NS:0
» KJ9 IMP: 2 EW:4 2SN3 140 3.0 1 » QJ8 IMP: 0 EW:0
s 72 » 96 488-1 50 30 2 ||a Q63 » K84
v QJ5 v K862 4SN-1 -50 3.0 2 ||v A954 I v K6
* QJ2 + KT4 4SS-2 100 -40 2 8 + AKQT62
+ AQ632 & T754 & A7632 » K5
® VBN 4 AQJS3 o ¢ VABN 4 AJTS
N ~1~22 9A%4 N ~~~~~ v Q32
S ~1~22 48753 S ~~~~~ ¢ 753
E1~~~~ a8 E 56~~5 &T94
W1~~~~ W 56 ~~5
#3 » AJ65 2HW3 -140 Mean: 4HW-2 200 30 4 ||#4 » Q95 1SN1 80 Mean: 3DE-1 100 40 1
v 42 4HW-2 200 90 4HW-1 100 0.0 4 vT5 2DW2-90 -30  1NW-1 100 40 1
+ QJB3 Dif: -340 NS:-6 2HWS3 140 60 2 * J932 Dif: 170 NS:3 1HS2 110 40 1
& 986 IMP: -8 EW:-3 & Q653 IMP: 5 EW:2 1SN1 80 30 1
» KQ74 a 93 a 632 a AT4 3SN-1 100 20 1
v AK876 v QT5 v K987 + v A2 2HS-1 4100 20 1
¢ K ¢ T652 ¢ T854 + KQ76 2DW2 -90 20 1
& 532 » AQ74 » K2 & JT97 2DE2 90 20 1
P VABN ,T82 o VAN 4, KJIS7 2SN-2 -200 -5.0 2
N ~1~1~ ¢J93 N ~~21~ v QJ643
S ~1~1~ ¢A974 S ~~21~ ¢A
E1~3~1aKJT E ~2~~1 a&A84
W1~2~1 W ~2 ~~1
#5 s Q2 3SS4 170 Mean: 4SS4 620 100 1 ||#6 & AK7 4SXS4 590 Mean: 4SXS4 500 50 2
v Q983 4SS-2 -200 180 4HXW-2 300 3.0 1 v 8 4SN5450 420 4SXN4 500 50 3
+ QT862 Dif: 370 NS:0 3Ss4 170 0.0 4 + Q865 Dif: 140 NS:5 4SN5 450 1.0 1
& JT IMP: 9 EW:9 2SS4 170 0.0 2 » K8632 IMP: 4 EW:-1 4Ss4 420 0.0 1
# 765 s K 2883 140 1.0 1 ||a QT 92 5HW-2 200 6.0 1
v AT76 v K542 48S-2 200 9.0 1 ||v KQJ542 v AT63 5HW-1 100 8.0 2
¢ 73 * AJ54 ¢ 93 ¢ A74
+ KQ63 & 8752 » AQJ & T975
%o ¢ VAN 4AITI843 % ¢ VAN 4 J86543
N ~1~32 oJ N ~4~4~ 997
S ~1~33 +K9 S ~4~4~ ¢ KIT2
E 2~2~~ &A% E1~3~1 &4
W2-~2~-~ W 1~3~1
#7 » KQ98653 4CE4 -130 Mean: 3SN3 140 7.0 1 |[|#8 » Q864 6CW-150 Mean: 6SE-2 100 50 1
v K5 4SXN-1-200 -150  4SN-1 4100 20 2 v A9643 4SW5 -450 -100  6SW-1 50 40 1
*QJ Dif: 70 NS:1  4CE4 130 10 5 ¢ JT7 Dif: 500 NS:4 6CW-1 50 40 4
& A2 IMP: 2 EW:2 4SXN-1 200 -20 1 T IMP: 11 EW:8 5SE-1 50 40 1
aJ a A74 5CE5 600 -10.0 1 | |a AK75 a J932 4SW5 450 -8.0 1
v JT732 + vQ T v Q5 4SES 450 B0 1
¢ KT4 ¢ A985 + KQ63 ¢ A8 5HXN-3 -500 9.0 1
& T874 S » KQ963 & AK9 » QJ543
F*OVABN T2 FOVAN T
N ~~~ 2~ ¢ A9864 N ~~~~~ v KJ872
S ~~~2~ 47632 S ~~~~~ ¢ 9542
E 53~~~ aJ5 E 5~~42 &872
W53~~~ W 5 ~~42
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#1: 5 BEIZHEI2(96.74) #2: 6 EXE(06. 42) #3: 3 FHE(75.82)

7 NS: BssE BREIREAC) 10 5 NS: BRES) $5RAE(FF0) 20 5.91 14.09| Total VP: 62.59 Rank:
EW: BE7 SEEE5EE0) 20 EW: i#tiRiE MER(BAC) 1 IMP:| 5 : 16 7
I I -
#1 » KT84 2SN3 -140 Mean: 4SS4 420 9.0 1 |[#2 » 972 3NW5 460 Mean: 3NW5 460 0.0 4
v T73 4SS-2100 40  3SS3 140 3.0 1 v JT87 3NE5460 -460 3NE5 460 0.0 6
« A96 Dif: -240 NS:-4 2SS3 140 3.0 1 ¢ J94 Dif: 0 NS:0
» KJ9 IMP: -6 EW:-3 2SN3 140 3.0 1 » QJ8 IMP: 0 EW:0
s 72 » 96 488-1 50 30 2 ||a Q63 » K84
v QJ5 v K862 4SN-1 -50 3.0 2 ||v A954 I v K6
* QJ2 + KT4 4SS-2 100 -40 2 8 + AKQT62
+ AQ632 & T754 & A7632 » K5
® VBN 4 AQJS3 o ¢ VABN 4 AJTS
N ~1~22 9A%4 N ~~~~~ v Q32
S ~1~22 48753 S ~~~~~ ¢ 753
E1~~~~ a8 E 56~~5 &T94
W1~~~~ W 56 ~~5
#3 » AJ65 4HW-2 -200 Mean: 4HW-2 200 30 4 ||#4 » Q95 2DE2 90 Mean: 3DE-1 100 40 1
v 42 4HW-1-100 90 4HW-1 100 0.0 4 vT5 1NW-1-100 -30  1NW-1 100 40 1
+ QJB3 Dif: -100 NS:0 2HW3 140 60 2 * J932 Dif: 190 NS:4 1HS2 110 40 1
& 986 IMP: -3 EW:-3 & Q653 IMP: 5 EW:2 1SN1 80 30 1
» KQ74 a 93 a 632 a AT4 3SN-1 100 20 1
v AK876 v QT5 v K987 + v A2 2HS-1 4100 20 1
¢ K ¢ T652 ¢ T854 + KQ76 2DW2 -90 20 1
& 532 » AQ74 » K2 & JT97 2DE2 90 20 1
P VABN ,T82 o VAN 4, KJIS7 2SN-2 -200 -5.0 2
N ~1~1~ ¢J93 N ~~21~ v QJ643
S ~1~1~ ¢A974 S ~~21~ ¢A
E1~3~1aKJT E ~2~~1 a&A84
W1~2~1 W ~2 ~~1
#5 s Q2 2SS4 -170 Mean: 4SS4 620 100 1 ||#6 & AK7 4SXN4 -590 Mean: 4SXS4 500 50 2
v Q983 3SS4 -170 180  4HXW-2 300 3.0 1 v 8 4SXS4 -590 420  4SXN4 500 50 3
+ QT862 Dif: 0 NS:0 3SS4 170 0.0 4 + Q865 Dif: 0 NS:5 4SN5 450 1.0 1
& JT IMP: 0 EW:0 2SS4 170 0.0 2 » K8632 IMP: 0 EW:-5 4Ss4 420 0.0 1
# 765 s K 2883 140 1.0 1 ||sQT 92 5HW-2 200 6.0 1
v AT76 v K542 48S-2 200 9.0 1 ||v KQJ542 v AT63 5HW-1 100 8.0 2
¢ 73 * AJ54 ¢ 93 ¢ A74
+ KQ63 & 8752 » AQJ & T975
%o ¢ VAN 4AITI843 % ¢ VAN 4 J86543
N ~1~32eJ N ~4~4~ 997
S ~1~33 +K9 S ~4~4~ ¢ KIT2
E 2~2~~ &A% E1~3~1 &4
W2-~2~-~ W 1~3~1
#7 » KQ98653 3SN3 -140 Mean: 3SN3 140 7.0 1 |[|#8 » Q864 6SW-1-50 Mean: 6SE-2 100 50 1
v K5 4CE4 130 -150  4SN-1 4100 20 2 v A9643 6CW-1-50 -100 6SW-1 50 40 1
*QJ Dif: -270 NS:1 4CE4 130 10 5 ¢ JT7 Dif: 0 NS:4 6CW-1 50 40 4
& A2 IMP: -7 EW:-7 4SXN-1 200 -20 1 T IMP: 0 EW:-4 5SE-1 50 40 1
aJ a A74 5CE5 600 -10.0 1 | |a AK75 ~ J932 4SW5 450 -8.0 1
v JT732 + vQ T v Q5 4SES 450 B0 1
¢ KT4 ¢ A985 + KQ63 ¢ A8 5HXN-3 -500 9.0 1
& T874 S » KQ963 & AK9 » QJ543
P OVABN T2 FOVAN T
N ~~~ 2~ ¢ A9864 N ~~~~~ v KJ872
S ~~~2~ #7632 S ~~~~~ ¢ 9542
E 53~~~ aJ5 E 5~~42 &872
W53~~~ W 5 ~~42
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#1: 5 BEIZHEI2(96.74) #2: 6 EXE(06. 42) #3: 3 FHE(75.82)

8 NS: sS4t 221§ ¥EEHC) 9 1 NS: 5 $E{ZH(BAO) -16 16.68 : 3.32 Total VP: 74.27 Rank:
EW: B Z485E50) 16 EW: BREIE 3 iA(BAC) -9 IMP:| 37 16 4
I I —
#1 » KT84 2SS3 -140 Mean: 4SS4 420 9.0 1 |[#2 » 972 3NE5 460 Mean: 3NW5 460 0.0 4
v T73 4SS-150 40 3883 140 30 1 v JT87 3NE5 460 -460 3NE5 -460 00 6
« A96 Dif: -190 NS:-3 2SS3 140 3.0 1 ¢ J94 Dif: 0 NS:0
» KJ9 IMP: -5 EW:-3 2SN3 140 3.0 1 » QJ8 IMP: 0 EW:0
s 72 » 96 488-1 50 30 2 ||a Q63 » K84
v QJ5 v K862 4SN-1 -50 3.0 2 ||v A954 I v K6
* QJ2 + KT4 4SS-2 100 -40 2 8 + AKQT62
+ AQ632 & T754 & A7632 » K5
® VBN 4 AQJS3 o ¢ VABN 4 AJTS
N ~1~22 9A%4 N ~~~~~ v Q32
S ~1~22 48753 S ~~~~~ ¢ 753
E1~~~~ a8 E 56~~5 &T94
W1~~~~ W 56 ~~5
#3 » AJ65 4HW-1 -100 Mean: 4HW-2 200 30 4 ||#4 » Q95 2SN-2 200 Mean: 3DE-1 100 40 1
v 42 4HW-1-100 90 4HW-1 100 0.0 4 vT5 3DE-1-100 -30  1NW-1 100 40 1
+ QJB3 Dif: 0 NS:0 2HW3 140 60 2 * J932 Dif: 300 NS:4 1HS2 110 40 1
& 986 IMP: 0 EW:0 & Q653 IMP: 7 EW:5 1SN1 80 30 1
» KQ74 a 93 a 632 a AT4 3SN-1 100 20 1
v AK876 v QT5 v K987 + v A2 2HS-1 4100 20 1
¢ K ¢ T652 ¢ T854 + KQ76 2DW2 -90 20 1
& 532 » AQ74 » K2 & JT97 2DE2 90 20 1
P VABN ,T82 o VAN 4, KJIS7 2SN-2 -200 -5.0 2
N ~1~1~ ¢J93 N ~~21~ v QJ643
S ~1~1~ ¢A974 S ~~21~ ¢A
E1~3~1aKJT E ~2~~1 a&A84
W1~2~1 W ~2 ~~1
#5 s Q2 3SS4 -170 Mean: 4SS4 620 100 1 ||#6 & AK7 5HW-1 -100 Mean: 4SXS4 500 50 2
v Q983 4SS4 -620 180  4HXW-2 300 3.0 1 v 8 4SXN4 -590 420  4SXN4 500 50 3
+ QT862 Dif: 450 NS:10 3SS4 170 0.0 4 + Q865 Dif: 490 NS:5 4SN5 450 1.0 1
& JT IMP: 10 EW:0 2SS4 170 0.0 2 » K8632 IMP: 10 EW:8 4ss4 420 0.0 1
# 765 s K 2883 140 1.0 1 ||sQT 92 5HW-2 200 6.0 1
v AT76 v K542 48S-2 200 9.0 1 ||v KQJ542 v AT63 5HW-1 100 8.0 2
¢ 73 * AJ54 ¢ 93 ¢ A74
+ KQ63 & 8752 » AQJ & T975
%o ¢ VAN 4AITI843 % ¢ VAN 4 J86543
N ~1~32 oJ N ~4~4~ 997
S ~1~33 +K9 S ~4~4~ ¢ KIT2
E 2~2~~ &A% E1~3~1 &4
W2-~2~-~ W 1~3~1
#7 » KQ98653 5CE5 600 Mean: 3SN3 140 7.0 1 |[|#8 » Q864 6CW-1-50 Mean: 6SE-2 100 50 1
v K5 4CE4 130 -150  4SN-1 4100 20 2 v A9643 4SE5450 -100 6SW-1 50 40 1
*QJ Dif: 470 NS:1 4CE4 130 10 5 ¢ JT7 Dif: -500 NS:-8 6CW-1 50 40 4
& A2 IMP: 10 EW:10 4SXN-1 200 -20 1 T IMP: -11 EW:-4 5SE-1 50 40 1
aJ a A74 5CE5 600 -10.0 1 | |a AK75 ~ J932 4SW5 450 -8.0 1
v JT732 + vQ T v Q5 4SES 450 B0 1
¢ KT4 ¢ A985 + KQ63 ¢ A8 5HXN-3 -500 9.0 1
& T874 S » KQ963 & AK9 » QJ543
P OVABN T2 FOVAN T
N ~~~ 2~ ¢ A9864 N ~~~~~ v KJ872
S ~~~2~ #7632 S ~~~~~ ¢ 9542
E 53~~~ aJ5 E 5~~42 &872
W53~~~ W 5 ~~42




112& < & > AMEEHEHL 2RI
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#1: 5 BEIZHEI2(96.74) #2: 6 EXE(06. 42) #3: 3 FHE(75.82)

9 NS: ZHHIE 5REBHEC) -21 6 NS: &8 F=1E(0) 4 2.50 17.50 | Total VP: 68.56 Rank:
EW: EEJjJ,m ERE@FEO) 4 EW: ZhiEi5 FE1E(BAC) 21 IMP:| 8 33 6
I —
#1 'y KT84 4SN-150 Mean: 4SS4 420 9.0 1 |[#2 » 972 3NE5 460 Mean: 3NW5 460 0.0 4
v T73 4SS-2100 40  3SS3 140 3.0 1 v JT87 3NE5460 -460 3NE5 460 0.0 6
+ A96 Dif: -50 NS:-4 2SS3 140 3.0 1 * J94 Dif: 0 NS:0
» KJ9 IMP: -2 EW:3 2SN3 140 3.0 1 » QJ8 IMP: 0 EW:0
s 72 » 96 488-1 50 30 2 ||a Q63 » K84
v QJ5 v K862 4SN-1 -50 3.0 2 ||v A954 I v K6
* QJ2 + KT4 4SS-2 100 -40 2 8 + AKQT62
+ AQ632 & T754 & A7632 » K5
® VBN 4 AQJS3 o ¢ VABN 4 AJTS
N ~1~22 9A%4 N ~~~~~ v Q32
S ~1~22 48753 S ~~~~~ ¢ 753
E1~~~~ a8 E 56~~5 &T94
W1~~~~ W 56 ~~5
#3 » AJ65 2HW3 140 Mean: 4HW-2 200 30 4 ||#4 » Q95 1SN1 -80 Mean: 3DE-1 100 40 1
v 42 4HW-2 -200 90 4HW-1 100 0.0 4 vT5 2DW290 -30  1NW-1 100 40 1
+ QJB3 Dif: 340 NS:3 2HW3 140 60 2 * J932 Dif: -170 NS:-2 1HS2 110 40 1
& 986 IMP: 8 EW:6 & Q653 IMP: -5 EW:-3 1SN1 80 30 1
» KQ74 a 93 a 632 a AT4 3SN-1 100 20 1
v AK876 v QT5 v K987 + v A2 2HS-1 4100 20 1
¢ K ¢ T652 ¢ T854 + KQ76 2DW2 -90 20 1
& 532 » AQ74 » K2 & JT97 2DE2 90 20 1
P VABN ,T82 o VAN 4, KJIS7 2SN-2 -200 -5.0 2
N ~1~1~ ¢J93 N ~~21~ v QJ643
S ~1~1~ ¢A974 S ~~21~ ¢A
E1~3~1aKJT E ~2~~1 a&A84
W1~2~1 W ~2 ~~1
#5 s Q2 3SS4 -170 Mean: 4SS4 620 100 1 ||#6 & AK7 4SXS4 -590 Mean: 4SXS4 500 50 2
v Q983 4SS-2200 180 4HXW-2 300 3.0 1 v 8 4SN5 -450 420  4SXN4 500 50 3
+ QT862 Dif: -370 NS:-9 3SS4 170 0.0 4 + Q865 Dif: -140 NS:1  4SN5 450 1.0 1
& JT IMP: -9 EW:0 2SS4 170 0.0 2 » K8632 IMP: -4 EW:-5 4SS4 420 0.0 1
# 765 s K 2883 140 1.0 1 ||sQT 92 5HW-2 200 6.0 1
v AT76 v K542 48S-2 200 9.0 1 ||v KQJ542 v AT63 5HW-1 100 8.0 2
¢ 73 * AJ54 ¢ 93 ¢ A74
+ KQ63 & 8752 » AQJ & T975
%o ¢ VAN 4AITI843 % ¢ VAN 4 J86543
N ~1~32 oJ N ~4~4~ 997
S ~1~33 +K9 S ~4~4~ ¢ KIT2
E 2~2~~ &A% E1~3~1 &4
W2-~2~-~ W 1~3~1
#7 » KQ98653 4CE4 130 Mean: 3SN3 140 7.0 1 |[|#8 » Q864 6CW-1-50 Mean: 6SE-2 100 50 1
v K5 4SXN-1200 -150 4SN-1 4100 20 2 v A9643 4SW5 450 -100  6SW-1 50 40 1
*QJ Dif: -70 NS:-2 4CE4 130 10 5 ¢ JT7 Dif: -500 NS:-8 6CW-1 50 40 4
& A2 IMP: -2 EW:-1 4SXN-1 200 -20 1 T IMP: -11 EW:-4 5SE-1 50 40 1
aJ a A74 5CE5 600 -10.0 1 | |a AK75 ~ J932 4SW5 450 -8.0 1
v JT732 + vQ T v Q5 4SES 450 B0 1
¢ KT4 ¢ A985 + KQ63 ¢ A8 5HXN-3 -500 9.0 1
& T874 S » KQ963 & AK9 » QJ543
P OVABN T2 FOVAN T
N ~~~ 2~ ¢ A9864 N ~~~~~ v KJ872
S ~~~2~ #7632 S ~~~~~ ¢ 9542
E 53~~~ aJ5 E 5~~42 &872
W53~~~ W 5 ~~42




112& < & > AMEEHEHL 2RI

==> RT

#1: 5 BEIZHEI2(96.74) #2: 6 EXE(06. 42) #3: 3 FHE(75.82)

1 O NS: 325 5REHEAC) -5 3 NS: #lEF 52/~ (FH0) 11 5.32 14.68 | Total VP: 41.45 Rank:
EW: =6 FarEiEE0) -11 EW: &iil55 BRiEFR(BAC) 5 IMP:| 5 18 10
I I -
#1 » KT84 3SS3 -140 Mean: 4SS4 420 9.0 1 |[#2 » 972 3NW5 460 Mean: 3NW5 460 0.0 4
v T73 4SS-150 40 3883 140 30 1 v JT87 3NE5 460 -460 3NE5 -460 00 6
+ A96 Dif: -190 NsS:-3 2SS3 140 3.0 1 * J94 Dif: 0 NS:0
» KJ9 IMP: -5 EW:-3 2SN3 140 3.0 1 » QJ8 IMP: 0 EW:0
s 72 » 96 488-1 50 30 2 ||a Q63 » K84
v QJ5 v K862 4SN-1 -50 3.0 2 ||v A954 I v K6
* QJ2 + KT4 4SS-2 100 -40 2 8 + AKQT62
+ AQ632 & T754 & A7632 » K5
® VBN 4 AQJS3 o ¢ VABN 4 AJTS
N ~1~22 9A%4 N ~~~~~ v Q32
S ~1~22 48753 S ~~~~~ ¢ 753
E1~~~~ a8 E 56~~5 &T94
W1~~~~ W 56 ~~5
#3 » AJ65 4HW-2 -200 Mean: 4HW-2 200 30 4 ||#4 » Q95 2SN-2 200 Mean: 3DE-1 100 40 1
v 42 2HW3 140 90 4HW-1 100 0.0 4 vT5 3SN-1100 -30  1NW-1 100 40 1
+ QJB3 Dif: -340 NS:-6 2HWS3 140 60 2 * J932 Dif: 100 NS:-2 1HS2 110 40 1
& 986 IMP: -8 EW:-3 & Q653 IMP: 3 EW:5 1SN1 80 30 1
» KQ74 a 93 a 632 a AT4 3SN-1 100 20 1
v AK876 v QT5 v K987 + v A2 2HS-1 4100 20 1
¢ K ¢ T652 ¢ T854 + KQ76 2DW2 -90 20 1
& 532 » AQ74 » K2 & JT97 2DE2 90 20 1
P VABN ,T82 o VAN 4, KJIS7 2SN-2 -200 -5.0 2
N ~1~1~ ¢J93 N ~~21~ v QJ643
S ~1~1~ ¢A974 S ~~21~ ¢A
E1~3~1aKJT E ~2~~1 a&A84
W1~2~1 W ~2 ~~1
#5 s Q2 2SS4 -170 Mean: 4SS4 620 100 1 ||#6 & AK7 4SXN4 -590 Mean: 4SXS4 500 50 2
v Q983 3SS4 -170 180  4HXW-2 300 3.0 1 v 8 4SS4 -420 420  4SXN4 500 50 3
+ QT862 Dif: 0 NS:0 3Ss4 170 0.0 4 + Q865 Dif: -170 NS:0 4SN5 450 1.0 1
& JT IMP: 0 EW:0 2SS4 170 0.0 2 » K8632 IMP: -5 EW:-5 4SS4 420 0.0 1
# 765 s K 2883 140 1.0 1 ||sQT 92 5HW-2 200 6.0 1
v AT76 v K542 48S-2 200 9.0 1 ||v KQJ542 v AT63 5HW-1 100 8.0 2
¢ 73 * AJ54 ¢ 93 ¢ A74
+ KQ63 & 8752 » AQJ & T975
%o ¢ VAN 4AITI843 % ¢ VAN 4 J86543
N ~1~32 oJ N ~4~4~ 997
S ~1~33 +K9 S ~4~4~ ¢ KIT2
E 2~2~~ &A% E1~3~1 &4
W2-~2~-~ W 1~3~1
#7 » KQ98653 4CE4 130 Mean: 3SN3 140 7.0 1 |[|#8 » Q864 6CW-1-50 Mean: 6SE-2 100 50 1
v K5 4CE4 130 -150  4SN-1 4100 20 2 v A9643 6SE-2 -100 -100  6SW-1 50 40 1
*QJ Dif: 0 NS:1 4CE4 130 10 5 ¢ JT7 Dif: 50 NS:5 6CW-1 50 40 4
& A2 IMP: 0 EW:-1 4SXN-1 200 -20 1 T IMP: 2 EW:-4 5SE-1 50 40 1
aJ a A74 5CE5 600 -10.0 1 | |a AK75 ~ J932 4SW5 450 -8.0 1
v JT732 + vQ T v Q5 4SES 450 B0 1
¢ KT4 ¢ A985 + KQ63 ¢ A8 5HXN-3 -500 9.0 1
& T874 S » KQ963 & AK9 » QJ543
P OVABN T2 FOVAN T
N ~~~ 2~ ¢ A9864 N ~~~~~ v KJ872
S ~~~2~ #7632 S ~~~~~ ¢ 9542
E 53~~~ aJ5 E 5~~42 &872
W53~~~ W 5 ~~42




